
1) Simplify 7:10

Answer: ____________

2) $435.00 earning 7% compound 
interest for 2 years.

Answer: ____________

3) 50 x 69

Answer: ____________

4) 99 x 15

Answer: ____________

5) Find the value of 'x' by completing the 
square of the following equation: 2 + 
10x + 16

Answer: ____________

6) 16 x 2

Answer: ____________

7) Simplify 4:8

Answer: ____________

8) 95 x 69

Answer: ____________

9) 7 x 100

Answer: ____________

10) 25/9 x 53/7

Answer: ____________

11) 67/10 x 54/5

Answer: ____________

12) Find the value of 's' by completing 
the square of the following equation: 
2 + 6s + 8

Answer: ____________

13) 56/9 x 49/10

Answer: ____________

14) 13 + 2 - 3

Answer: ____________

15) 108 ÷ 18

Answer: ____________
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16) 320 ÷ 20

Answer: ____________

17) $459.00 earning 8% compound 
interest for 6 years.

Answer: ____________

18) 252 ÷ 18

Answer: ____________

19) 34 ÷ 2

Answer: ____________

20) 31 x 96

Answer: ____________

Total: ___ / 20
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Answers:

1) 7 : 10 2) $498.03 3) 3450 4) 1485 5) (x + 5)2 - 9 6) 32 7) 1 : 2

8) 6555 9) 700 10) 1355/63 11) 3843/50 12) (s + 3)2 - 1 13) 2723/30 14) 12

15) 6 16) 16 17) $728.38 18) 14 19) 17 20) 2976
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